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1.  Which one of the followings is not the
ethical property of research ?

(A) Honesty
(B) Justifiability
(C) Neutrality

(D) Subjectivity

Read the following passage carefully and
answer questions 2 to 6.

At the dawn of history India started on
her unending quest, and trackless centuries are
filled with her striving and the grandeur of her
successes and her failures. Through good and
ill fortune alike she has never lost sight of that
quest or forgotten the ideals which gave her
strength. We end today a period of ill fortune
and India discovers herself again.

The achievement we celebrate today is but
a step, an opening of opportunity, to the greater
triumphs and achievements that await us. Are
we brave enough and wise enough to grasp this
opportunity and accept the challenge of the
future ?

That future is not one of ease or resting
but of incessant striving so that we might fulfil
the pledges we have so often taken and the one
we shall take today. The service of India means
the service of the millions who suffer. It means
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5. From where has the new star of freedom @ ﬁﬁﬂﬂ%ﬂﬁﬁﬂﬁ@ﬁﬂg@?%?

arisen ?
(A) East a) o
(B) West (B) ufvem i
(C) North (© W i
(D) South (D) =f&go ;
6. The service of India does not mean : @ ‘R EET Al A A aE 2
(A) the service of our leaders (A) TR TS i HaT HEAT
(B) ending of poverty (B) THIE fHErm
(C) ending inequality of opportunity ©) 313'9'{ i rgEEare! @ fHer
(D) ending of ignorance and disease (D) STl U Sl i e
7.  The next number in the number series 7.  EE gt i
7, 28, 124, 344, 1330, 2198,..... will be : 7, 28, 124, 344, 1330, 2198,..... W ATl
e g
(A) 2197 (A) 2197
(B) 2298 (B) 2298
(C) 2198 (C) 2198

(D) 2297 (D) 2297




10.

Semantic barriers to communication does
not include :

(A)  Unclear message

(B) Faulty translation
(C) Technical words or Jargons
(D) Differences in perception

Find the next term of the series :
BEK, CGM, EKQ, GMS, .....

(A) HLR

(B) KQW

© JTWQ

(D) QLR

Level of signal is inversely proportional
to the :

(A) Reliability of a system
(B)  Efficiency of a system
(©)

Accuracy of a system

(D) Bandwidth of a system

o

10.
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BEK, CGM, EKQ, GMS, ...
(A) HLR
(B) KQw
(€) JWQ
(D) QLR
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12.

13.

Communicating Policy statements,
programmes and objectives and issuing
orders to the subordinates are referred to

as :
(A) Upward Communication
(B) Horizontal Communication

(C) Downward Communication

(D) None of the above

If Q, Q* and C respectively denote the set
of rational numbers, the set of irrational
numbers and the set of complex numbers,
then which of the following is different
from the other three ?

(A) AM, GM, HM

[SSTHILN |

1
(B) - '5; 3:

© QQ*C
(D) Kaliyug, Satyug, Dwapar

Which of the following use routes with
packet filtering rules to allow or deny

access based on source address,

destination address, or port number ?
(A) IP enable firewall

(B) Router enhanced firewall

(C) Packet filtering firewall

(D) Application layer firewall

\
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\
3)) fret § for he fceftn i & sfea,
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T % SR TEY 9 ¥4 7 o7 & fau

FIAE?

(A) TP S HEE

(B) T Aftfa wrRRETA

(C) ke fohreefln wrREra
(D) STEN TFR HrEREE
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14.

15.

As per W.H. Newman and CF. Summer  14.

“communication is an exchange of
by two or more persons”.

Complete the above statement by
choosing the correct alternative/
alternatives.

(a) Facts

(b) Opinion

(€) Ideas

Codes :

(A) (a) only

(B) (b) and (c)

(©) (a), (b) and (c)

(D) None of the above

Complete the following letter series from 15.

the options given below :
abc __cdacd _ _ab _d
(A) abdca

(B) cadbce

(C) dbabc

(D) None of the above

abc*_l;_ édacd o hab _d

W.H. =87 3R C.F. 99 % 399r “‘g=r
<1 a1 3ifies safaasi & =1 fafrrg
@@?ﬂ%l”

SR U7 H Wh forhey/ foaredi & 3faq
=99 | i sife

(a) d=El

© (a), (b) 3R (c)
(D) SRF T 4§ FE 7

Freferfi st St =1 11 fed fepenit
0 ) -
\

(A) abdca
(B) cadbe
(C) dbabc

(D) 39t ® ¥ 1 75




16.

17.

18.

The commission recommended for 180
teaching days in higher education was
given by :

(A) Radhakrishnan Commission
(B) Kothari Commission
(C) Mudliar Commission

(D) Rashtriya Gyan Ayog

Which of the following statements about
photochemical smog is incorrect ?

(A) It has high concentration of
oxidising agent.

(B) It has low concentration of
oxidising agent.

(C) It can be controlled by controlling
the release of NO,, hydrocarbon

and ozone.

(D) Plantation of some plants like pinus
helps in controlling photochemical

smog.

Which of the following chemical has
maximum bio-concentration factor ?

(A) Aldrin
(B) Benzene
(C) Tetrachloro ethylene

(D) Polychlorinated biphenyl

16.

18.

=g foen ® 180 sremm feawi =1 fuRw
A = o 9 1 AW g/ ewiE
7

19.

(A) TURFWH ST
(B) ISRl M

(C) Wefear smm
(D) TS FH ST

Y19 TEES W 6 gy § e 1 9 20.
FI-91 FHYT A T ?

(A) T9H sifetera qerd @t drEar sfs
AT

(B) TUH SfadihReh Ueld i GrEdl &H
ik

(C) T8 NO,, TEZIHEA T A& &
Ioqsi =1 Tt =y fefa fea
HhaT €|

(D) UETH YR % U TR HIRIHE 6
i 1 FrEfE T g ¥ 21

= § 9 form WA &1 S9d=al RS
Haifym € ?

(A) TEH

(B) s

(C) AR gefedi

(D) Tictiadriee arEfREa
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20.

21,

Itai-Itai disease is caused due to toxicity
of which of the following metal ?

(A) Arsenic
(B) Mercury
(C) Cadmium

(D) Lead

A college can get grant from UGC only
when it is covered under the section/
sections of UGC act 1956 is :

(A)  2(f)
(B) 12 B
(C) Both (A) and (B)

(D) Neither (A) nor (B)

Which is not the objective of RUSA ?

(A) Improve the overall quality of
higher education institutions.

(B) Ensure academic and examination

reforms in higher education

institutions.

(C) Ensure capacity building atall levels
of employment.

(D) Setting higher education institutes
to Urban and Semi-urban area.

19.

20.

21.
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22,

Ozone depletes by which of the following ~ 22.

system ?

(A) OH system

(B) N,O system

(C) CFCl; or CFCl, system

(D) All the above

Which of the following green house gas 23.

has maximum GWP (Global Warming
Potential) ?

(A) Carbon dioxide

(B) Methane

(C) Nitrous oxide

(D) SF,

3o &1 fages fe o 9 fovg o3 g &
5 2

(A) OHdGA
(B) N,O @
(C) CFCl, 91 CFCl,

(D) ST 9t

frm ¥ 9 form 2fm ' 19 i Sfgssy .
_(Teree aifHT drefere) waifus 22

(A) HEA EEIFES
(B) ¥R
(C) ¥rEZH AFES

(D) SF,

24. Mak
corr

(a)

(b)



24. Match List - I with List - I and select the 24, gl - 1 %1 Gt - 11 & YAferd & frsy %2

correct answer using following codes : | ) g | wE I = FHITST
List - I List - II T - 1 T - 10
(a) Peroxyacetyl (i) Global (a) WSTHATEREA (i) Teee afd
nitrate Warming e
(b) Poly chlorinated (ii) Photochemical (b) dieh FAREEE (i) BRREEAS
biphenyls smog ELEREIES! i
(c) Dioxides of (ii) Water (c) e a (iil) STeT YUk
carbon and Pollutants HeHl 6
sulphur ' S EEIERIEE]
(d) IR active (iv) Acid rain (d) IR HfsFT 377 (iv) 37T 9ui
molecule
(¢) Organic Waste (v) Discharge (e) TR safere  (v) wftsRTor HEHi
from food & i
processing
plants
Codes % :
@ (b © (@ (@ @ () (© (@ (e
(A) (@) (@) (@v) 1@ (v) (A) @) @) (@) (G ()
B i) (@) @ ) v B @) @ O @ W
©) (v) @) @) @ G © v G) () @ Gv)

(D) @) @) @) (v) @) (D) @) (@) Gv) (v) ()




25.

26.

Consider following statements :

(@)

Green chemistry refers to the
redesign of chemical products and
process in order of reducing or
eliminating adverse environmental
and health effect.

Eutrophication results subsequent
loss of biodiversity.

DDT is a biodegradable pollutant.

The altitude of stratosphere is about
0 - 10 km from earth’s surface.

Correct statements are :

(A)
(B)
(©)

(D)

(¢) and (d)
(b) and (d)
() and (b)
(b) and (¢)

Which one of the following is an indicator
of the quality of a research journal ?

(A)
(B)
©)

(D)

ISO - 2012
NAAC Accreditation
Impact factor

g - index

25. \Wmmﬁaﬂﬁm:
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(A) (o) 7o (d)

(B)
©)

(b) 7 (d)
(a) T (b)
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26. /Fodt iy ufseRt o1 Torern o freEfatad J
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(A) ISO -

(B)
©

2012
TA.QE . A

ECIERILED

(D) Si-gehih

28.

29,



27.

28.

29.

Objectivity means :

(A) Inter-personal agreement
(B) Inter-objects agreement

(C) Inter-personal disagreement

(D) Inter-objects disagreement

The Evaluation through quizzes and  28.

discussions is called as :

(A) Summative evaluation
(B) Formative evaluation
(C) Cognitive evaluation
(D) All of the above

Continuous and

Evaluation means :

and
co-affective aspects with regularity.

(A) Evaluation of affective

(B) Evaluation of cognitive and

co-cognitive  aspects with

regularity.

(C) Evaluation of conative and

co-conative aspects with regularity.

(D) Evaluation of psychodynamic and
co-psychodynamic aspects

regularly.

Comprehensive 29,

27/&@%@35131&?%:

(A) STaafgas Hedftd
(B) Teleg HEHf
(C) srdafwh wrewfa
(D) 3Teieq sTeAfd

SEAreRY e e 35 g A e T
F

(A) HHeTATHE Tl
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(D) SRR et
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(A) Trafad €99 yEmHs T - iareis
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(C) Trafea €94 fsraras wa we-forarers
TEGH! T JoAIFA |

(D) f7afya ®9 4 FHAMTETHE T R
TR el &l Hedis |



33.

34.

35.

Action Research is :
(A) Applied Research
(B) Longitudinal Research

(C) The research conducted for solving
some recent and socially relevant
problems

(D) (A) and (C) both

Which of the followings is not the maxims
of teaching ?

(A) From simple to complex

(B) From emotion to intelligence
(C) From concrete to abstract
(D) From indefinite to definite
Null Hypothesis is called as :
(A) Hypothesis of difference
(B) Hypothesis of similarity
©)

Hypothesis of no difference

(D) None of the above

@mmsﬁu%
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36.

37.

If the following statements are given
Statement :

I. Al girls are scientists.

II.  All scientists are peacoc
Conclusion :

I. Al girls are peacoc
II. Some peacocks are scientists.

then pick up the correct answer :

(A) Conclusion I is right.

(B) Conclusion II is right.

(C) Conclusion I and II both are right.

(D) Conclusion I and II both are wrong.

In the following number-letter group
which is different from the others ?

(A) PH3
(B) VK2
(C) XD 6

(D) OE3

36.

37.

ofe Frefafed sy feu o €

I oft wefral amfe ¥
I 9+t St HR €
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I gt R A E
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) frepd I udt B

(C) T 1 aem 11 S i €

(D) Frd 1 aem 11 ST et B 1

‘Frrefefen sie-1e 9 § § FF-7

JimE?
(A) PH3
(B) VK2
(C) XD 6

(D) OE3




38.

39.

Which layer protocol provides logical
communication between application
processes running on different Host ?

(A) network
(B) transport
(C) application

(D) session

If A represents students in Science, [ ]

represents students in Arts, O represents
students in Commerce and D
represents students in Law, then from the
following figure find how many students
of Commerce are also students of Science
or Arts or Law ?

2
3 32 4
4
(A) 4
(B) 2
< 3
(D) 5

38}<

mmﬁqmwﬁm@@mw
el SATEN SikAs % wem ghyel geR
I FHUAT & ?

(A) Tk

(B) TIHUR

(©) s
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3 32 4
4
(A) 4
(B) 2
© 3

(D) 5



40. By using following table to answer the ~ 40. H¥1 %I ST 3 % fo f=r wwolt &1 39 41.
question. This table shows the “Number Fifew zg groft § et d@1ed & I
of oddicers in various departments of an fauri § siffead =t gemsii & fu=-fa=
organisation in different scales” : whel o gt T g
Table e raui|
eptt| Perso- Opera- Syst- Acco- Mainte- Public faum| ot 3t . ufsrs 42.
Scales\ | nnel tions ems unts nance Relations & ; fEm
I | 225 725 750 300 325 175 1 |25 725 750 300 325 175
I 120 426 576 288 240 150 1l 120 426 576 288 240 150
m | 75 250 320 120 8 100 m | 75 250 320 120 8 100
I 40 126 144 60 30 50 l}l', 40 126 144 60 30 50
v 25 65 70 35 20 35 v 25 65 70 35 20 35
VI 4 20 28 15 8 5 VI ) 20 28 15 8 5
43
What is the ratio between the total Spet 111 3iR St IV § AN e A
number of employees in Scale IIl and ! GE & HeA ST 1 82
Scale IV respectively ? 2
(A) 19:9 Ka (A) 19:9
(B) 9:17 //r(' B) 9:17
\
© 9:19 (C) 9:19
(D) 17:9 D) 17:9 |
1
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41.

42,

43.

What is the resolution of 12 - bit data
converter ?

(A) 0.00024%
(B) 0.024%
(C) 0.0041%
(D) 0.041%

What is the address given to a computer
connected to a network called ?

(A) Process ID
(B) IP Address
(©) SYSID

(D) IE address

Both sons Ram and Mohan of Sohan have
one son and one daughter each. The only
daughter Sobha of grandfather of the
only son Tuku of Ram and Sobha has
¥ 50 lakhs while the mother-in-law of the
daughter Priya of Mohan gave ¥ 60 lakhs
Sobha handed
over half of her amount to her son. Both
Tuku and Rahul handed over their money
to their grandfathers. Then how much

to her only son Rahul.

amount Sohan has now ?
(A) R 55 lakhs

(B) ¥ 25 lakhs

(C) T 30 lakhs

(D) none of these

41.

42,

43.

12 - fae s = =1 fisiee e #2182

(A) 0.00024%
(B) 0.024%
(C) 0.0041%
(D) 0.041%

FeTE ¥ gHEIfgd FEGR H A UeH fam

S e ? \
(A) WEHID N
(B) IPTgH

(C) SYS ID

(D) IETH
2

e S i TH A e § | T
T A1 T P | T SR i v
A TF 7 A1 < THAR T 091 F T X 50
W%W%aﬁﬁﬁmﬁmaﬁ
mﬁééngaaﬁmow@ T ST
T 1 380 379 A < S| TF 991 VA
S Y- 379 A 2793797 et Y ¢
e o= |iea & o fat afw €2

(A) T 55 o
(B) T 25mE
(C) T30 @
(D) T8 | H1E T



44,

45.

(a) Six friends P, Q, R, S, T and U are 44,

members of the club and each play
a different game of Football, Cricket,
Tennis, Basketball, Badminton and
Volleyball.

(b) ‘T’ who is taller than P and S play

tennis.

(c) The tallest among them plays

Basketball.

(d) The shortest among them play
Volleyball.

(e) Q and S neither play Volleyball nor
Basketball.

(f) T isin between P and Q in order of
height where Q pIays fﬁntbah

Whomllbemthe dplacelftheyﬁé
arranged in decreasmg ox\der @eight ?

(A) Q
(B) P
© T
(D) .S

n B

In which of the following m@rmal 45.

the

communicates with everyone non-

network does mdwldual

selectively ?

(A) single strand network
(B) gossip network

(C) cluster network

(D) probability network

() ®: 2 P,Q R, S T 3R U F& &
A § 3R YOF - €@
weara, fwwe, 2w, sTehedlq,
Fefirea iR afciieie Tad € |

(b) ‘T’ s f P ok S | T ®
G g |

(c) T8 Gl 1 aArheate Wedl € |
(d) T T B Sieisie e ¢ |

(e) Qs 7 & sieheaiar Werd € AR A
& afeftate |

() o FH SERT, P AR Q F HA R
© SR Q sl B ¢ |

Az 7% SaE F FTER w2 wH § we fma

T A A e T B B 7

A Q %

(B) P

© Tp\ o

A

D) Siy condP g

T di-

ﬁwﬁﬁaaﬁ%ﬁﬁﬁzﬁ%ﬁﬁiwﬁa
FFIATEE Y G TS & 9 AW HE

2?2

(A) THA i FeTh

(B) I FeEeh

(C) TS (cluster) Fe&qd
(D) wifaeal HZah

r o




46.

47,

Which networking device can solve the
problem of excessive broadcast traffic ?

(A) Router
(B) Switch
(C) Bridge

(D) Repeater

See following coding patterns : 47.

‘Alert Bhutan from China’
‘Sing Phu Lu Top’

‘Bebare from American Alert’
‘Top Lu Siu Laugh’

‘Bebare Pakistan from China’
‘Putu Laugh Lu Sing’

‘Nepal Alert America and India’
"Top Su Siu Kiu Pop’

Then “Alert Nepal from China and
Pakistan” will be coded as :

Sing Phu Laugh Kiu Putu Su
(B) Sing Lu Su Putu Laugh Pop
(C) Top Kiu Putu Pop Lu Siu

(D) Top Pop Su Kiu Lu Sing

eafehT &1 o feary, srfus sieats
ST T THET 1 B H Tl &2

(4) X
(B) fe=
© fos -
(D) fidrex

=1 =hifen wgfa =1 34

ﬂ%’w
e o

‘TMW

T " TERE Tl oH = U IR Sl
TH YFR Fe 5 S

(A) fETEawfpgy g
(B) T8 T Y I ol
(C) <fu forg gg div 9 fag

(D) 29 9y g forg 7 fam




48.

49,

Choose the most appropriate answer.

Oral Communication is better than
Written Communication for :

(A) Providing opportunity to refer back
(B) Saving time
(C) Conveying feelings and emotions

(D) Conveying facts '

Which of the following statement is false
about HTTP ?

(A) It runs over TCP

(B) It describes the structure of
webpages

(C) It allows information to be stored
in URL

(D) It can be used to test the validity of
hyperlink

@i atfer 3f IR gPT

49.

fafea g9 #1 sdan @Y AN
_ % fom sew d R

(A) S YT HH H T 3@ T
(B) THA Wl w=d
(C) wreedl SR Hagiedl o1 yfqure

(D) @i @ wfereA

HTTP ¥ Heifyg | @ &y =1 § Tem
??

(A) T€ TCP W Ferdl &

(B) aawvﬁmwavhm%

(C) URL ¥ G |URY &I STTART < €

(D) TRWfd® HI Sua ot S § ITEM
< o = weha €




50.

51.

Given below a statement, followed by two
arguments numbered (a) and (b). Choose
the correct option from the following :

Statement :

“Are nuclear families better than joint
families”.

Argument :

(a) No Joint families ensure security
and also reduces the burden of the
work.

(b)  Yes, Nuclear families ensure greater
freedom.

Choose the correct answer :
(A) Only argument (a) is strong.
(B) Only argument (b) is strong.

(C) Neither argument (a) nor argument
(b) are strong.

(D) Both arguments (a) and (b) are
strong.

Rigid rules and regulations are included
in:

(A) Physical barriers
(B) Mechanical barriers
(C) Socio-psychological barriers

(D) Organisational barriers

50.
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52. If D=4, COVER=63 then BASIS=?

52./af% D=4, COVER =63 & BASIS=?

(A) 49 (A) 49
(B) 50 (B) 50
() 54 (C) 54 % ﬂ S L.S
)‘
(D) 55 (D) 55 > \ [ 3 lq
- 2\
s s LA ; ;
53. The following table gives the detail of  53. fr=fafEd |reft & TE= | 99 :
‘Quantity of various food items used by a 799 B: HEH § 39 fwa T fafy= @
Restaurant during the first half of a year verelf &t (fpm. #) g T € -
(in kg) :
Table R
W Jan.  Feb March Aprii May June ] WHEl Wl oue owiE 6 B
Food Items e
Rice 250 230 210 260 240 220 S 250 230 210 260 240 220
Wheat 320 340 280 290 300 360 i~ 320 340 280 290 300 360
Sugar 240 210 200 210 160 150 TR 240 210 200 210 160 150
Pulses 360 300 320 245 235 250 Gl 360 300 320 245 235 250
Vegetables | 380 390 385 375 355 370 Tt 380 390 385 375 355 370
Misc. 460 485 440 460 475 480 fafan 460 485 440 460 475 480
What is the difference between the ﬁqmws’l‘-ﬁﬁgmmﬂaﬁfréaﬂuaw
average quantity of rice used in all the aﬁumu,‘q’waﬂmﬁ'éaﬁmm%ﬁw 3
given months together and the average FNE?
quantity of wheat used in all the given
months together ?
(A) 60 kg (A) 60 fewm.
(B) 90kg (B) 90 fem.am.
(C) 75kg () 75 fwm.
(D) 80 kg (D) 80 feram.




58.

59.

Match the colour code with biomedical

waste disposal :

(@) Yellow (i)
(b) Red (i)
(c) Blue (iii)
(d) Black (iv)
Codes :

@@ (b) (9
(A) @) @ @@
B) @ @v) ()
© O Gv) (i)
(D) () () (@)

Match the following :

Green house

gases
(a) Carbon dioxide
(b)

(c)

Methane
CFC

Nitrous oxide

(d)
Codes :
(a)
(iv)
(i)  (iv)
(tv) (i)
(i) (i)

(b) (o)
(A) (1i)
(B)
©

(D) (i)

Solid waste
Waste sharps
Chemical wastes

Human
anatomical waste

59.

Source

(i)  Fertilizer

(i)  Refrigerant
(iif) Wet land
rice

cultivation
(iv) Wood fuel
(d)
(1)
(i)
()
(iv)

58.

At a4 yerel % o # el

1 %2 & 91y wifed

(a) e (;j}-/"a!? ER R

b) @@ (i) THE o e

(© em (i) TamatEn o T

(d) H?Fg (iv) HFE IR = F
a4 were

(b) (d)

(1)

(1)

(1)

(i)

(i) o gfH
EIEECLE!

iv) g g

(a)
(iv)
(iii)  (iy)
(iy) (i)
(i) (i)

(b)
(A) (1)
(B)
©

(D)
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